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function fact( k: integer ): real;

begin

if (k<0) then fact := 0

else if (k=0) then fact := 1

else fact := fact(k-1) * k
end;
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function fibo( i: integer ): integer;

begin
if (i<=0) then fibo := 0
else if (i=1) then fibo := 1
else fibo := fibo(i-1) + fibo(i-2)
end;
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procedure multiwrite( n: integer );
begin
if (n>1) then multiwrite( n-1 );
write( n, > 7 );
if (n>1) then multiwrite( n-1 )
end;
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[Renshu6a.pas)| 0000000
program Renshu6a( input, output );
var s: string;
begin
writeln( > 000000 );
write( P 0000000O00O0DOOO? );
read( s );
writeln( > 0000O0OO?, s,

end.
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[Renshu6b.pas)] 0000 0On 000000
program Renshu6b( input, output );
var emonth: array [1..12] of string;

i: integer;

begin
emonth[ 1] := ’January’; emonth[ 2] := ’February’;
emonth[ 3] := ’March’; emonth[ 4] := ’April’;
emonth[ 5] := ’May’; emonth[ 6] := ’June’;
emonth[ 7] := ’July’; emonth[ 8] := ’August’;
emonth[ 9] := ’September’; emonth[10] := ’October’;
emonth[11] := ’November’; emonth[12] := ’December’;
writeln( ’The 4-th month is ’, emonth[4], ’> in English.’ );
i := 8;
writeln( ’What month is ’, emonth[i], ’ in Japanese 7’ )
end.

[Renshu6e.pas] 00 0000000000000
program Renshu6c( input, output );

var k: integer;

procedure multiwrite( n: integer );
begin

if (n>1) then multiwrite( n-1 );
> )5
if (n>1) then multiwrite( n-1 )

write( n, ’

end; {end of definition of multiwrite}
begin

read( k );

multiwrite( k );

writeln

end.



